KER

BILL OF MATERIAL MobEr DF-d P2 NO.  B5k8 uisT No.__ ML=10037
- URAEE BN [ | SHEET 1 OF 1 SHEETS
QUAN.
PER =
PART NO. ONE DESCRIPTION REMARKS S
EQUIP. 0
o| Ls-10001 1 LOUDSPEAKER: ; 1 2
& LWS04MSC 4 LOCKWASHER: spring, #4, med.,steel, cad.pl. 25 1l
< LWS08MSC 4 LOCKWASHER: spring, #8, med.,steel, cad.pl. 3 1
E MS=157=3 1 PANEL: aluminum ‘& 1
0 NTHO440BC8 4 NUT: hexagon, 4=-40, brass, cad.pl. 5 1
NTHO832BC10 4 NUT: hexagon, 8-32, brass, cad.pl. 6. 1
.| SCFS0440BC4 4 SCREW: machine, 4-40, brass, cad.pl., 1/4 1lgl 7. 1
‘;‘ SCFS0832BC10 4 SCREW: machine, 8-32, brass, cad.pl., 5/8 lgd 8. 1
< | SN=10002 1 SCREEN : 9. 2
E| TM-100-2 1 TERMINAL STRIP: 2 terminal 10. 1
(0] NP-10001-8 1 NAMEPLATE: 11. 1
SC-110 4 SCREW: thread cutting 2. 1
0
L
|_
=
: SUPPORTING DRAWINGS
&| A-10084 PANEL ASSEMBLY: 8
§ MS=10164 PANEL DRILLING: 4
S
O
=
-
2'/?/5(7 T—- APPLICABLE SPECIFICATIONS. LAST PAGE ——T CHECKED APPROVED

FORM 131




LOUDSPEAKER PANEL

ONTARIO

OTTAWA,

T M C(%anads)LIMITED

J BILL OF MATERIAL

MODEL LSPl PROJ. NO.

LIST NO ML - 1003?

TN O N N SR S S SHEET ] OF ] SHEETS
QUAN.
PART NO. oree DESCRIPTION REMARKS
EQUIP.
1, LS-10001 1: LOUDSPEAKER: 4 inch, Jensen P4-X
2, MS-157-3 1 PANEL: aluminum, 5-1/4 inches x 19 inches
3. NP=10001 1 NAMEPLATE :
L, NTHO440BC8 L NUTS: hexagon, 4-40, brass,cadmium plated
5. NTH0832BC10 L NUTS: hexagon, 8-32, brass, cadmium plated
6. SCFSO0440BC10 L SCREW: machine, 4-40, brass, cadmium plated,
5/8 inches long
7. SCFS0832BC? L SCREW: machine, 8-32, brass, cadmium plated,
7/16 inches long
8. SN-10002 1 WIRE MESH SCREEN: 4-1/4inches x 4-1/4 inches
9. TM=102-2 i b BOARD: terminal
10, L SCREW: self tapping, 3-56

L APPLICABLE SPECIFICATIONS, LAST PAGE —T

CHECKED

APPROVED

FORM 131




